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Unit 10 Review Worksheet
Show all work and reasoning.  Use a pencil and highlight your answers.
	1.  You roll a die and toss a coin.  Determine the following probabilities.  

	a)  Fill in the area model to show all possible outcomes.

	b)  P (heads) = ______
c)  P (heads and 2) = ______

d)  P (2 given heads) = ______
	e)  P (even) = ______

f)  P (even and tails) = ______

g)  P (tails given even) = ______



	2.  Consider a deck of 52 playing cards.  

	a)  Drawing one card at random, find:

(i)  P (jack) = 

(ii)  P (red) = 

(iii)  P (red or jack) = 

(iv)  P (red and jack) = 

(v)  P (not a face card | card is red) = 


	b)  Drawing two cards (one at a time) without replacement, find:

(i)  P (1st card is red and 2nd card is black) = 

(ii)  P (both red) = 

(iii)  P (both jacks) = 

(iv)  P (both face cards) = 

(v)   P (2nd card is a black | 1st card is red) = 


	3.  You play the game Wheel of Alotta Bucks.  You spin twice and only win if two spins match.  If you win, you win the amounts shown (e.g., $1, $100, or $10,000).  The wheel has the following probabilities: 

P($1) = 
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       P($10,000) = 
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	a)  Draw an area diagram for all possible outcomes for two spins.  



	b)  Determine the following probabilities.

i) P (both spins are $1) = 

ii) P (both spins are $100) = 

iii) P (both spins are $10,000) = 

iv) P (winning anything) = 

v) P (at least one spin is $100) = 

vi) P (both spins are $10,000 | both spins are the same) = 

vii) P (both spins are $1 or at least one spin is $100) = 

	c)  What is the expected value for the game?
	d)  Suppose you pay $150 to play a game.  Is the game worth playing?  Explain your reasoning.



	4.  Determine the equation 
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 that generates each graph below.  Leave answers in factored form.

	a) 
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	b)
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	5.  Write the standard (expanded) form equation of a polynomial 
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 given the following zeros.

	a)  cubic polynomial with zeros x = –3, 2, 5


	b)  quartic polynomial with zeros x = 
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	6.  Simplify.  Write answers in 
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 form.
	7.  Evaluate.

	a)  
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	b)  
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	8.  Factor completely.

	a)  
[image: image15.wmf]1

8

-

x



	b)  
[image: image16.wmf]3

3

729

1000

y

x

-


	c)  
[image: image17.wmf]18

9

2

2

3

+

-

-

x

x

x



	9.  Solve for all solutions of x.

	a)   
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	d)  
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